
Séquence de Nombres Linéaires (G)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 657 582 507 432Différence commune:2. 864 414 339Différence commune:3. 992 842 767 617Différence commune:4. 824 524 449 374Différence commune:5. 228 223 203 183Différence commune:6. 730 700 690 670 650Différence commune:7. 646 636 616 596 576 566 556Différence commune:8. 656 646 636 616 596 576 566Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (G) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 807 732 657 582 507 432 357 282 207 132Différence commune: -752. 864 789 714 639 564 489 414 339 264 189Différence commune: -753. 992 917 842 767 692 617 542 467 392 317Différence commune: -754. 824 749 674 599 524 449 374 299 224 149Différence commune: -755. 228 223 218 213 208 203 198 193 188 183Différence commune: -56. 740 730 720 710 700 690 680 670 660 650Différence commune: -107. 646 636 626 616 606 596 586 576 566 556Différence commune: -108. 656 646 636 626 616 606 596 586 576 566Différence commune: -10Mathslibres.com


